DANISH ACADEMY

Kot Haibat DGK 03467300010
Name: |Ro|| #: | |Subject: |Chemistry-9 Test #: 1168692
Test Detail: Type 9 - Short Test (MCQs=9, SQs=9, LQs=2) - Marks=45 Time:
Syllabus: U-7, Date: 17-Feb-2023
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1- Circle the correct answer. (9x1=9) o 0,0155,5 S wls> Gawy> -1

1. Loss of electrons is called: e BWUS 2l 1S e -1
Reduction S5, (B) Oxidation iy XewST (A)
Hydrogination . i (s> 9,50 (D) Hydration ¢, 0,550 (O

2. Which of the reactions is oxidation reaction? S, i lowST uisSul Sy Lw UgS Lao Jud 255 2
PEEURAY
Na''+1e” — Na (D) Fe'? — Fe'3 +1e” () Cl+2e —2C1" gy K™ +1lem — K (a)

3. The valency of iron in Fey(SOy)s is: e saatisg (S Ul Luo Fea(804)3 -3
4 (D) 3 (© 2 (B) 1 (A)

4. Aspecie that reudces a substance by donating electrons B,S Lwssls) S« 339,580l oS i oS 9> £95 09 4
to it is called: = LS
Reducing Agent ¢zl Siwgsi, (B) Oxidizing Agent iyl o35l 5awsST (A)
Dehydrating Agent &)l Kk, 550 5 (D) Colouring Agent &)l K5,lS (C)

5. Formation of water from hydrogen and oxygen is: e Liu 8 (ol —w omenST 9l 9,300 5
Redox reaction Syl s, ywSIS,, (B)Acid-base reaction - i<l )18 Gwlwl yol Lls (A)
Decomposition | l=; (D) Neutralization -, iu;5V,5q0 (C)

6. During the formation of water from hydrogen and =S Joc S i il —w ozxST 9l o>9,300 -6
oxygen, which of the following does not occur? S Ugy Lutw 8319 LS o Lwo 2 205 wlhes
Hydrogen has oxidized _, s8q; uin XS 6 >9,550 (A)
Oxygen has reduced _, «Sg; uiiS3, (S ST (B)
Oxygen gains electrons __,  si,S Juols Ug,5SJl ST (Q)
Hydrogen behaves as oxidizing Agent __, i,S oS ,; yob S izl SipliauwsT o>9,504 (D)

7. Acetic acid is an example of: o Jlio Sl Sl 7
Weak electrolyte &,,5\g,:51 ;9505 (B) Strong electrolyte &, 5Vg,2SJl H9:8lb (A)
Strong-base * .y ,g:8ls (D) Strong acid Xyl ,g:8lb (C)

8. Anode of Down's cell is made of : e Uoy W 30l S Juwpisls 8
Graphite @b_,)f (D) Zinc 55 (©) Copper LIS (B) Steel Jutw (A)

9. Slow and continuous coating away of a metal by the w229 S pudao S S 3,551 8 Jio cswsS 9
surrounding medium is called: ' LS oL 8 Jil> g1 39,8
Stains Siaiw (D) Corrosion Uig,S Q) Alloy ey (B) Paint Caw (A)

2- Answer the following questions. (9%x2=18)igSJ) WUIg> juaizxo S WVlgw Jd )y -2
i. Write down any two examples of oxidation reaction in oS Wiy (0SS w Jlg> S wg,kSUI 8
the form of chemical reaction. -ued Jlo Sl ol
il.  Find the oxidation number of "S" from given formula oo XS 1S "S" s Luo CaSO4 Vgo,lo 58 s i
CasSO,. -U)S poleo yuos
iil.  Define oxidation and oxidizing agent and give example. oS Wi (8S Cuoadyl SIS CsawsST 9l i XS] i
_ o ollio sl
IV.  Write two uses of Redox Reactions in daily life. 95 S 3iiaSul S,y LuS9%) Lo S5 0,0 59, WV

e S) WV losiwl

13



V. Write redox reaction take place during electrolysis of oS5, g s Uhes S juwdo, Sl (S sy Y

water. ce—pSJ L)_M,‘_g_,l S,

Vi.  Where does the sodium metal is collected in down cell? € wigy o> WS Jiuo puSew uo Juow gl Vi
vii.  How sodium metal is obtained from fused sodium Jools S S0 puSew —w 3lelS puSgw $5949 vii
chloride. e il S
viii.  What does mean rusting of Iron? S sho LS —w 8 S5 65 gl -viii
iX.  Write the chemical reaction of electrolating of silver. eSS b Joo (koS 5 Sisdyg il S elw -ix
Attempt following questions in detail. (2x9=18) =S Llg> i S UVlgw LS 2,
3(a) Calculate the oxidation number of sulphur in HSO4 S S o i lewsST S el LaoHS04a)3
when ONof H=+1and O = -2. H = +100 puiniowST S szaaST gl o>9,300

_UHO = -2)9|

(b) Write down five rules for assigning Oxidation number to =S S LAISET yuod i SwSTsS ol S (b)
an element. xS 5= Jeol guly

4(a) Explain the redox reactions with the help of two >log —w a0 (S UgllingS JuuSul S, uSely,a)4
examples. oS Ul —w

(b) How NaOH is manufactured from Brine? Explain. 2xb S (NaOH) X5LwST 9,50 puSew —w il (b)

xS wlog § o Ul LS L
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